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.Tana= FB/BD =1/2
.Tan a = FI2/I>N =1/2
Tan o= IN/I2B =2/4=1/2
WINYI=(N"S5=r= Fo+DB=1+4:N
Tan o =NJ2/J2D =4/8 =1/2
J2D=J2A + AD =3 +5:N

Tan 20 = NJ2/J2A = 4/3

.Tan 20 = LQ/LA =4/3

BLQ ovpwnmuw wnwna = LQ = BL = 4 (N79) :IN
Tan2aovpn =LA = 3 (N”9) :IN
AN 11 =KG2=CT2=H2Q=4+3 +4:)» MR =(N") 7T =r=[BL + LA] =[4 + 3] N

Tan Radian = CT2/CA =11/7.
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2ar/2r = = 22/7 VN = 9PN YYUN 22/7 = 44/14 = [H2QR2M]/2r N
ar/2 = (N 11 = H2Q = [H2QR:2M)/4 =r + LQ :N
A7) 11 = /2 = Dy VP 1/6 = [INOINY + 11-0 PInn] 995
(N7 4 = wwnn nan = LQ = BP nup vin 95 .(x%) 4 = BP = 2ar/11 = LQ = 11-9 pInD

SIN



